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INSTRUCTIONS �

1. Please keep away your mobile phone,

calculator, slide rules and log tables before
attempting the questions. Failure to do so can
result in cancellation of your candidature.

2. There are THIRTY questions in this paper
inlcuding Twenty multiple options one correct
type.

3. Please answer to the point to all questions.
There are no marks for length of answers.

4. Please answer all the questions within the
answer booklet. No extra sheets will be
supplied to any candidate.
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PART – A

Instructions :1) This part has 20 questions of one mark each.
2) All of them are compulsory.
3) Each question is followed by four options namely a, b, c and d.

Please write the option serial you feel is most complete and correct
in the space provided on the first page of your answer book.

(20×1=20 Marks)

1. Cutting the top of trees so as to stimulate production of numerous straight shoots
on the  top of the cut stem is known as

(a) Culling (b) Thinning

(c) Pollarding (d) Coppicing

2. A one hectare plantation has to be established having 1000 trees. If the spacing of
plants within the row is 2 mts, what is the spacing between the rows ?

(a) 2 mts (b) 3 mts

(c) 4 mts (d) 5 mts

3. Which of the following methods are useful while raising Clonal Seed Orchards
(CSO) of genetically superior trees ?

(a) Root suckers and budding

(b) Grafting and root suckers

(c) Grafting and budding

(d) None of these

4. Cuttings obtained from which region of the trees juvenility ?

(a) top (b) basal

(c) middle (d) none of these

5. In ridge trenches, _________ditches are dug in clayey areas while_________ditches
are better for lighter soils. The words which correctly fill the blanks are respectively.

(a) vertical, horizontal

(b) vertical, slanting

(c) horizontal, slanting

(d) horizontal, vertical
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:�+��;�A

���������	�
���� 1) ������	�
��
������
������20 �����������������������
2) ����� ������� �������������	��	��
3) ���������������������������� a, b, c 	����� �d !�"�������#��$���������%&'�(�����

%	����� ���)���� *��
� � 	����� � ��+��,-.� !���%*��	�� #��$��� *��/�)������� 0�� ��
��
1 
����1��&���
2��34�%&'�(����5�����34�"��6�+� (20×1=20 Marks)

1. ����������������G���������������H7�?�������H!����9C�!������%�9!���������!��'���������� �����;��#!���5�����
;����I:����.!�����>�:����
(a) ��%&9�
 (b) )��9�

(c) ��J���
 9�
 (d) ��	"#�H9�


2. 1000 �������6������ 89!��� >��� K��
� ��	��������� :�L":�
��M!�0� :�������%&� :�:������� ��C����
2�N����������O��K�P���N!�$��7�:����������C�����QO��K�P���N������!��R
(a) 2mts (b) 3 mts

(c) 4 mts (d) 5 mts

3. ��6�5���D�;����������������(Genetically Superior trees)��	&����
�H�C
�?��*C
S*�(CSO)
�������
���:�����������D���5B���NT���������;��5�������D���R
(a) 
������U����������������������	���V������(Root suckers and budding)

(b) ��H���BC��N�����������
������U������������(Grafting and root suckers)

(c) ��H����C��N�������������	���V������(Grafting and budding)

(d) �����%���5B���?@��5�	�'�&
4. ����������5B��� (���/9!�� ��C�!��� ������H!�� ���9C�������� ������� �����,�������� (Juvenility)
;6H��	���-������R
(a) ������G�� (b) =�C�
(c) ���T���(��� (d) ����%���5B���?@��5�	�'�&

5. /W�X�����������%&7� (Redge trenches) P�� ����YX�����2!��3�!�%&�___________ >���-��������
'��5��������.!�����������>��������!�����,�X��6���___________ >���-������(trenches);������0
Z�%�:�L�����������:��5BD����9==�&���!�����9!���0

(a) �9=7�'C�[ (b) �9=7�\��5B!�

(c) 'C�[7�\��5B!� (d) 'C�[7��9=
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6. Which operation helps in elimination of branches so as to obtain trees with clean

boles ?

(a) cutting (b) pruning

(c) thinning (d) coppicing

7. According to Champion and Seth (1968) there are ________ major groups and

__________type groups of forest types in India. The numbers which correctly fill

the blanks are respectively.

(a) 15, 6 (b) 6, 16

(c) 16, 6 (d) 6, 15

8. The tree from which the vegetative propagules are taken is called

(a) clone

(b) ramet

(c) ortet

(d) superior tree

9. Genetic architecture, an important function of genetic tests comprises of

(a) amount of variation in traits

(b) genetic control of traits

(c) genetic interrelationships among traits

(d) all of them

10. Which of the forces that works in nature assists in increasing the variation ?

(a) Mutation and natural selection

(b) Gene flow and genetic drift

(c) Migration and mutation

(d) Mutation and gene flow
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6. 5B�����5�*��.�3��(�2��!��=�C������������C�5������	9
��������������:����%&�:�>�5����BC�����!��R

(a) ������:����.!�� (b) ��J2�9�
�(Pruning)

(c) )��9�
 (Thinning) (d) ��	"#�H9�


7. E�9"5��
��������� :���
� ���������2����7�(�����!�%&� ___________ ��2����]����9��.�����

��������___________ NT�!��'��,��NT���6��0�Z�%�:�L�����������:��5BD����9=����:�9Z�������0

(a) 15, 6 (b) 6, 16

(c) 16, 6 (d) 6, 15

8. :�:�������2����	��
�������������!����	���-����������.�^

(a) ��	&��
 (clone) (b) �����_
�(Ramet)

(c) ?_�*_
�(ortet) (d) ;������������(superior tree)

9. ��6� ������������ 89!��� ��2����]� ��5�*��!�� ��6� ��:���`�#��.� (Genetic architecture)

8����	9 �����.!��0

(a) ����,����%&���=!�����W�5����	���

(b) ����,�������93���U��5�9��2,

(c) ����,����%&���6�5������:�#���:�9=9T������

(d) Q��&�?@������	�:��

10. �:���*!�%&����:����BC�����5B���=���.����NT�������������>�AF:����:�>�5����BC�����!��R

(a) ��	��9�����(Mutation) �����������:�D*���?@��

(b) I��
�>����.���������'�����9`��� 2a
K

(c) ���:������������	��9����

(d) �������*�����������I��
�>����.
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11. Match the following :

Old Name New Name

1 Feronia limonia A Kigelia africana

2 Derris indica B Limonia acidissima

3 Kigelia pinnata C Pongamia pinnata

4 Anthocephalus chinensis D Corymbia citriodora

5 Eucalyptus citriodora E Neolamarckia cadamba

(a) 1A, 2B, 3C, 4E, 5D (b) 1E, 2A, 3D, 4C, 5A

(c) 1B, 2C, 3A, 4D, 5E (d) None of these

12. As a component, humidity represents which of the following factors ?

(a) Edaphic (b) Climatic

(c) Topographic (d) Biotic

13. Mycorrihizae in roots of some plant species have a _________ relationship because

_______________ The word and clause which correctly fill the blanks are

respectively.

(a) Parasitic, the mycorrihizae fungi invade the root tissue and absorb water and

nutrients from the plant tissue.

(b) Competitive, both organisms are competing for water and minerals found in

the soil.

(c) Mutualistic, the root tissue provides organic compounds for the fungi, and the

fungi absorb water and nutrients and transfer most of these resources to the

host plant.

(d) Commensalistic, the root tissue provides organic compounds for the fungi,

but the plant is not affected by its presence.
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11. >�	9/H�=��b���̂

�*�-�� �*���
� ��*�����*���
� 

1 a���	��5B�%��	��5B A ���P�%5B�?c2����

2 C��2:
�<9 �� B %��	��5B�?H HS��B

3 ���P�%5B�"���� C ��J9��N�5B�"����

4 ?9d�	�:�a��:
�P�����S�
 D ��	�9e5B�Hf2@	�!���

5 5�	��%��K:
�Hf2@	�!��� E �@	�����BM*5B���C�9=

(a) 1A, 2B, 3C, 4E, 5D (b) 1E, 2A, 3D, 4C, 5A

(c) 1B, 2C, 3A, 4D, 5E (d) ����%���5B���?@��5�	�'�&

12. 89!���g�����D7������93��(Humidity) ����D���5B���'93������������24�h:�����!��R

(a) ���YX�� (b) >�����B���

(c) :�L����i45��(Topographic) (d) P��N��

13. �����.�:�:�����2(��!�����%&���
���������%&����������UP���___________ :�9=9T��������>�	9/������!�

j��9!����___________ Z�%�e�K�P��������������2�����D����9=�����9!���

(a) �������9e7��������UP���̀ %�9T�2������
������'9��93����������2���`H7�:�:���'9��93�/9!�������

���������klK��93����������U����	���-�����

(b) :�#T�*�����7�Q��C�	�I�N���������YX��%&����������������klK��93���6��D�:�#h*:��4���������

(c) ����:�#��7�
������'9��93���.�`%�9T�2����:���5����:�95����������������C�����!����������`%�9T�2��.

�������������� � �klK��93���������� U����	9C��7�<��.����%&�=>�������������� ?4d��5�� :�:�����

����*b�:�����!�

(d) :�>�I�N7�
������'9��93���.� `%�9T�2���� :���5���� :�95�������������� ��C�����!�7�?!����'!���

;��HL4b�9!��:�:��!���������5B������W������J�e������./�&
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14. Which of this component decreases when site is deforested ?

(a) Soil erosion (b) Run off

(c) Soil humus (d) Light intensity

15. In shelterwood system of management, annual coupe is equivalent to

(a) Felling series (b) Coupe

(c) Block (d) Periodic block

16. Which term is used to study the seasonal changes in the development of foliage,
flowering and fruiting ?

(a) Physiognomy

(b) Phenology

(c) Physiographic

(d) Morphology

17. Group of plants of similar genotypes that occupy specific ecological niche is
termed as

(a) Cline (b) Ecotype

(c) Land race (d) Provenance

18. Sandal tree can flower

(a) once in a year

(b) twice in a year

(c) throughout the year

(d) all first three options are correct

19. Water when held with a water potential greater than -1/3 bar is known as

(a) Water volume

(b) Gravitational water

(c) Field capacity

(d) All first three options are correct

20. Azadirachta indica that is Neem is

(a) light demander

(b) drought resistant

(c) evergreen tree

(d) all first three options are correct
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14. '��,����3���!���7�����D����.����%&�5B���g�����.��� ���5B������!��R

(a) ���YX���:����� (b) ��������O�K�(Run off)

(c) ���YX���>�	����:
 (d) 
���M���4���2��

15. ���*>�W�5��3��K�
���.C
������:�L5�%&7���l*�����	��.�(Annual coupe) Q9!���

(a) a�%&9�
�:���Y (b) ��	�


(c) 
�&�
 (d) "�5B �
�
�&�


16. :�	��.#� 7� >�	�eC����.!��� �������� >�,�X� eC����.!��� ����9��!�� 
�����Y��5�%&��� ���� ���!�
=!�����W����������'T��b�:����;��@	�D:�����������!��5B��.!���R

(a) cI@	����N� (b) c����I

(c) cI@	���2"�
 (d) ��Ba�*�I

17. �/*O�K�����:�������>�	9/��	9 ������89!�����45��I���	�_���
���������>�	9/������:�:����������9"��
>�:����

(a) ��&m��
�(Cline) (b) 1��	�_���
�(Ecotype)

(c) (�	�n��9���(Land race) (d) ���	�:�L���(Provenance)

18. 7���������	����	�
�>�	�eC����.!��

(a) ��O�*��	����� (b) ��O�*����Q��C���
��

(c) ��O�*!��!�$��	� (d) ��	!���Q��&����	����?@��������:��5BD��

19. ��	

��D9���(Bar) 'h���n�:����d��*!�	9/������������U /_�K��7�'!����>�:����

(a) n����2��B, (b) ��������+�n�

(c) ������2�:����d��* (d) ��	!���Q��&����	����?@��������:��5BD��

20. �5����
�8�9�:
��'9!����
����.�89!��

(a) 
���M��� ��B���[�
�(Light demander) (b) =�����24��	�!����(drought resistant)

(c) ����>��!�+,*������ (d) Q��&���	!������	����?@��������:��5BD��
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PART – B (SECTION – 1)

Instructions : 1) All questions are compulsory.

2) All questions carry four marks. (5×4=20 Marks)

21. What are the factors influencing selection of site for establishing a forest nursery ?

22. Explain four advantages and four disadvantages of Clear Felling System.

OR

Explain for advantages and four disadvantages of Coppice System.

23. What is diagnosis and design (D & D) methodology in agroforestry and explain the

different procedures in it.

OR

Explain the constraints that make agroferestry practices unpopular with farmers.

24. Discuss in brief coastal land afforestation.

OR

What is a watershed ? Classify the types of watershed. List any six objectives of

watershed management.

25. Explain briefly the advantages and disadvantages of planting exotics.

OR

Explain briefly strategies to conserve genetic diversity.
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���������	
�������1�

���������	�
���� 1) ����� ������������ �������	��	��

2) ����� ������������ ��������
���������� ���; ����� 	�� (5×4=20 Marks)

21. 89!���'��,��:�:���3�2�3�2�������:�L":����P���!��?@��5�����������2(����e�������'93�������5B��.��.�R

22. M&�5��
�a�%&9�
������:�L5���������'�����	���������������������'�������	����������N���H�0

�
���

��"�:
�(coppice) �����:�L5��������'�����	���������������������'�������	����������N���H�0

23. '��,���il5�%&� Diagnosis & design (D&D)NT�����9!����j������������'��.����%&���NNT�

��5�*NT������������N���H�0

�
���

�������%&�'��,���il5��'(��:�������n��"25���	��-/�����<������'C���C����������N���H�0

24. ������65��(�	N�5�%&���C������
���:����.!������������:�9M������D�E�A*H0

�
���

n����5������2!��3���9!��������R�'��.�����NT������������D*����H0�n����5������2!��3�!�����*>�W�5�

5B��.!���?����T���5����������(objective) ��fK��B 0

25. N!��`�DC����������
���:����.!��9!��?������'�����	���������������'�������	����������:�9M������D�N���H0

�
���

'�����9`������NT����5������(Genetic diversity) :�9��M�:������9��2���������:�9M������D�N���H0
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PART – B (SECTION – 2)

Instructions :1) All questions are compulsory.
2) All questions carry twelve marks. (5×12=60 Marks)

26. Write in detail about the distribution, phenology, silvicultural characters, natural
regeneration and utilization of

Dipterocarpus indicus
OR

Pterocarpus marsupium.

27. Define thinning, reasons for thinning and describe different kinds of thinning methods
used in forestry.

OR
Write short notes on the following :
(a) Continuing causes in succession and important process involved in it.
(b) Monoclimax theory.
(c) Various operations to be carried out for successful natural regeneration.
(d) Rapid test for seed viability.
(e) Root coiling in nursery seedlings.
(f) Factors affecting the choice of spacing in plantation.

28. (a)  What are the differences between soil particle density and bulk density ?

(b) Write in brief about
1) Soil humus
2) Cation exchange Cat-ion exchange

(c) What are the benefits of soil organic matter ?

(d) Explain in brief :
1) Raindrop splash erosion
2) Surface flow erosion
3) Channelized flow erosion.

29. Write short notes on the following :
1) Base population
2) Disadvantages of seed storage
3) Target traits
4) Reasons for favoring Seedling Seed Orchard (SSO) over Clonal Seed Orchard (CSO)
5) Somaclonal variation
6) Progeny test.

30. Define agroforestry. Classify various agroforestry systems. What are the
advantages of agroforestry ?
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���������	
�������2�

���������	�
���� 1) �����������������
�'�<��	��	��
2) ������������������������������
�������������; ����� 	�� (5×12=60 Marks)

26. ����D����.�����>�9A���(Distribution)7�o����T����*3�:�p�(Phenology)7�H%+��%��
�(Silviculture)
����,�����7����:�D*�����.�������#!������������=����5��=��V��N���H0

Dipterocarpus indicus

	<�$�
Pterocarpus marsupium.

27. N��6�����,�(Thinning) Q9!��������R�N��6�����,��������,��������������'��,�!�%&�'���� :�����NNT�
N��6�����,�NT������������N���H0

�
���
����D����.������������f��#Y���������=��b��0
(a) ����:������!�%&�(sucession) ����9!������!������,��������������'!���%&�8����	9 ��������2M2@�
(b) ��	���	���&m���B��
S�H!�q9��
(c) 5�3�H+�����:�D*�����.�������#!�����D������	��-
����!��NNT����5�*�����
(d) e�n!��?5��O�����D�M���2���������(Rapid test)
(e) :�:���������2���������:�:�������
������:����6N���(Root coiling)
(f) ��	��!�%&�'9����!��?@��5������������W�����e�������'93������0

28. (a) ���YX�����,�:�9!�2�����������8_�K���:�9!�2���������C��N���������:�������5B��.��.�R
(b) <��.�����=��V�:�9M������D�=��b��0

i) ���YX���>�	����:

ii) �����r5B�
�(cation) N�5����

(c) ���YX���:���5������!�d�*�����(organic matter) '�����	�������5B��.��.�R
(d) :�9M������D�N���H

i) ������>���:�#m&3
�:�����
ii) �������m��>��N���:�����
iii) E������:
[�>��N���:�����6

29. ����D����.������������f��#Y���������=��b��
(1) ���	��n��:�9Z���(Base population)
(2) e�n�:�9��2>�W�5��'�������	������
(3) _���*_
�����,������(Target traits)
(4) ��	&����
�H�C
�?E�*C
*�CSO�D9���H� &9�
�H�C
�?E�*C
*�(S.S.O.)������?�H��	��-��

����,�����
(5) :�	������	&����
�=!�����W��(Somaclonal variation)
(6) :�9�������������(Progeny test)

30. '��,����il�Q9!��������R�NNT��'��,����il������:�L�����������D*����H0�'��,����il5��'�����	������
5B��.��.�R
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